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L In the following questions, four choices are given for each guestion, choose and write

the correct answer along with its alphabet: : T 1x8=8

1. Inthe pair of linear equations x +y =9 and x — y =1, the value of x and y are -

A) 5and 4 B)4 and 5 C)6 and 3 D)3 and 6
2. The product of prime factors of 120 is
A) 2% x3% x5! B)22 X 3'x 5! C)2°x31x 57 D)2*x3!x 5!
3. Inthe figure, the value of sin C is
2 : V3 .
A) & B)=- (?) o) D) 1 : A
2
1 _
B
V3
4. The distance between the point (4,3) and the Origin is
A) 7 units B) 25 units C) 5 units D) 6 units
A
\B
5. Inthe figure BCis a O
A) Radius B) Chord C) Diameter D) secant
P C

6. If the n™ term of an arithmetic progression is 4n? -1, then the 8% term is.

A) 32 B) 31 C)256 D) 255



7. 26 English alphabet cards (Without repeating any alphabet) are put in a box and shuffled well. . If a

card is chosen at random then the probability that the card with an Vowel is.

3 5 1 21

N B)= c)i RES
A
8. Inthe figure, the angle of elevation 0 is
1
] AN
B V3
A) 30° B) 45 C) 90° D) 60°
II. Answer the following questions:  1x8 =8

9. The LCM of 24. and-.36 is 48 and heﬁce find their HCF.

10. Find the roots of the quadratic equation x* + 7x +12 =0,

11. Find the value of sin 90" + tand5°.

12. Find the co-ordinates of the mid-point of the.line segments joining the points (6,2) and (4,4).
13. I A is an event of a random experiment, such that P(A) : P(4) =1 : 2, find the value of P(4).
14. If the perimeter and area of a circle are numerically equal, then find the radius of the circle.
15. Write the fonﬁula to find the volume of the SPhére.

16. The perimeter of circle with centre 'O" is 24cm, the angle formed by an arc of the circle at its

centre is 30°, Find the length of the arc AB.
A

<



III . Answer the following: : 8x2=16

17. Prove that 7 ++/5 is irrational.

B
18. In the adjoining figure, XY ] I BC. AX =p-3; BX=2p-2
X
and 2L =21 Find the value of p-
Y 4
A
A

v C

OR
In the figure, PC | | QK and BC| | HK. If AQ = 6cm, QH = 4cm, HP = Scm and KC = 18cm, then
find the lengths of AK and AB. ‘

19. Write the general form of the following:

a) Linear polynomial

b) Cubic polynomial

20. Draw a circle of radius 4cm, and construct a pair of tangents to the circle from a point 8cm away from its
center.

21. If o and P are the zeros of the polynomial p(x) = 3x? -12x +15, find the value of «® + B>

22. The angle of elevation of the top of a vertical tower on a level ground from point, at a distance of 94/3 m from
its foot on the same ground is 60°. Find the height of the tower. |
| ‘ OR

Find the diameter of the circular base of right circular cone whose slant height is 8cm and semi vertex angle

is 600, o

60% g8 cm




23. Find the area of un shaded region in the given circle of radius 7cm and sector angle is 30° as in the-

figure.

24. Curved surface area of right circular cylinder is 440 cm?. and the radius of its circular base is 7em.

Find the volume of the eylinder.

IV. Answer the following: o 3x9=27

25, A fraction becomes %, if 3 is added to both the numerator and the denominator, also if' 3 is

‘subtracted from the numerator and the denominator it becomes % Find the fraction.

OR

10 years hence, the age of x will be 2 times that of age of y, 10 years ago, the age of X was six
times that of age of y. What are their present ages?

26. Find the two consecutive positive integers, whose sum of their squares is 365.

27. Find the perimeter of the triangle whose vertices are (-2,1), (4,6) and (6,3).
OR

Three consecutive vertices of a parallelogram are A(1,2), B(2,3) and C(8,5). Find the fourth vertex.

28. Prove that the tangent at any point of a circle is perpendicular to the radius through the point of

contact.



29. A flower vase is in the form of a frustum of a cone. The perimeters of its bases are 44cm and

8.4 m c¢m. if the depth is 14cm, then find how much soil it can hold.

OR

Atoyis in the form of a cone mounted on a hemisphere both are of same radius. The diameter of the

conical portion is 6cm and its height is 4cm . Determine the surface area of the solid.

(Take t=3.14)

30.Solve graphically: 5x + y = 17 and 2x — 2y =2.

31. The following distribution gives the daily income of 50 workers of a factory.

Daily Income (in Rs) | Number of workers
100 -150 15

150-200 12

200 -250 10

250-300 8

300-350 5

Convert the distribution above to a * less than type’ cumulative frequency distribution, and draw

it’s Ogive.



32. The sum of first n terms of an arithmetic progression is 210 and sum of its first (n-1) terms is 171.

If the first term 3, then write the arithmetic progression.

33. A man drives his car with uniform speed from place A to the place B which is 150 km away . Again
he returns to the place A by increasing the speed of the car 10 km/hour and there by reaches 30
minutes earlier than the time taken in his forward journey. Find the total time taken by him in

forward and return journey.

OR
A,B and P are the three non-collinear points on a pl.ane. The distance between the point A and P is 2m
more than the distance between the points B and P. if the distance between points A and B is 10m and AB
is the longest side of the triangle ABC. Is ABC a right angled triangle or not, Justify your answer using

the discriminant of quadratic equation and also find the measure of AP and BP

V. Answer the following. 4x 4 =16

34, If the sum of first & terms of arithmetic progressions is 136 and that of fusf 15 terms is 465,then
find the sum of first 25 terms.

OR
The sum of the 5™ and 9™ terms of an arithmetic progression is 40 and the sum of the 8" anid 14% term is

64. Find the sum of first 20 terms.

35. The mode of the following distribution table is 15. Find the mean of this data, and then find the

median value by using empirical formula relating mean, median and mode.

ClL Number of workers
1-5 7 |
5-9 | 2

9-13 2

13-17 8

17-21 1

ing
36. Show that =2 4 13€058 _ 5 hsec d
1+cosd sin@



37. Draw aright triangle in which the sides (other than hypotenuse) are of lengths 8cm and 6cm, then

construct another triangle whose sides are —35~ times the corresponding sides of the given triangle,

VI. Answer the following ' : ‘ 1x5=5

38. State and prove : The converse of the Pythagoras theorem.





